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Writing Inequalities from a Number Line

Write an inequality to expressthe number line. Answers
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Writing Inequalities from a Number Line

Name:

Answer Key

Write an inequality to expressthe number line. Answers
EX) -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4
| | | | | @ : : ! ! ! ! - Ex. X =-3
X
) 8 9 10 11 12 13 14 15 16 17 18 19 20 21 1 X<14
- ! ! ! ! p——O———1 | | | | | |
X
2. X<5h
p 4 0 1 2 3 4 s 6 7 8 9 1
<| 1 1 )l( 1 1 . T T T T T 3 X S _19
3) 26 -25 24 23 -22 21 -20 -19 -18 -17 -16 -15 -14 s X<-120
- ! ! ! ! : : o | | | | 2
X
5 X =115
4 -150 -145 -140 -135 -130 -125 -120 -115 -110 -105 -100 -95
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